Rep: Jan Blaw cend gupta-Blealer formulation (Operator formalism)  $(I) \int O(y) \underbrace{\xi \overline{V} \cdot \overline{E}(y)}_{A(x)} A(x) \underbrace{\xi \overline{V} \cdot \overline{E}(y)}_{A(x)} = \underline{V} \Theta(x)$  $(\overline{Z} (\overline{Y} \cdot \underline{E})^{-} | plugs) = Cplugs | (\overline{Y} \cdot \underline{E})^{+} = 0 =)$  no Poingi kildinal state3 T.EIO> is a longitudinal state Equivalence classes: (plugs)~(plugs)+ (O(TE)))) in the sense that for [G, V.E] = 2 C= > Gobserveble  $\leq phys | G(|phys) + SOT \cdot E|o >)$ = cphysl 6 lphgs > BRST in operator formaliscu  $\overline{YE} \longrightarrow Q \simeq \int H^{\circ} (\overline{Y} \cdot \overline{E})^{\circ} + b^{\circ} TT_{\overline{H}}^{\circ} q$ + & TIHa Cabe HbHC [Q, Q] = 13(q) = BRST veclor hield

 $\begin{array}{c} 0 \\ \text{ino} \quad \begin{array}{c} no \quad longlid. ph. \\ no \quad longlid. ph. \\ no \quad line \quad like ph. \quad no \quad glost \\ \hline \\ (H^{-}(\underline{\nabla} \cdot \underline{E})^{+} + H^{+}(\underline{\nabla} \cdot \underline{E})^{-} + b^{+}(\overline{O} \cdot H^{-} + b^{-}(\overline{O} \cdot H^{-})^{+})|phys) \\ \hline \\ no \quad auhilghost \\ + \left(\frac{1}{2}(\overline{O} \circ \overline{H}^{n})^{+}(\underline{C} abc \quad H^{b} \cdot H^{c})^{-} + \frac{1}{2}(\overline{O} \circ \overline{H})(\underline{C} abc \quad H^{b} \cdot H^{c})^{+}\right)|phys) \\ \end{array}$  $ba = Fa = (\partial A)^{q} = \partial_{\theta} A^{\theta} - \nabla \cdot A$ Thus QIPHys) = 0 <= => no longitudival date  $\left( \circ \left( \overline{Y} \cdot \overline{E} \right) \right) | plus ) = 0$  $\int e^{-H^{2}} |plugs\rangle = 0$   $\left( e^{-2\theta H^{2}} |plugs\rangle = 0$ => (phys) \$ Eqhastr or auli -ghests => no himelike photon. New @ In the BDST formulation there is no need to dishinguish (V.E) + and (P.E) - since lleg caubine with the ghosts S.f. QIptegs> = 0 2 choice of representative: A HI H gepte Bleuler An BRST

Yut differently: Since in the BPST foundation there are more dyrees of herdow there is more freedou to eccebed the plugrice Slales. (3) while  $(\underline{\nabla}\cdot\underline{F})^2 \neq \overline{\partial}$  we have  $Q^2 \equiv \overline{\partial}$ . relation to deflerence lial forms: df = difdxi  $d^2 f = \partial i \partial j f d x i a d x J = 0$ antiroundicy. so, Q behaves lite au external differential. The precise geometric interpretation of Q (or S) is that of an odd vector hield on  $\mp$  manifold Nep:  $v = vi\partial_{xi} \in TM$  vector hield S = Si Dici E 7774 odd odd even (panily) huisled hangent boll. even odd Irrespective, since Q2=0 we may derowe pose the

space of states Hinto Q-closed and non-Q-closed Stales, with aquivalence dasses: Let 14) st. (hof Q14)=0 then 147~ 147 + Q107

Def: The cohomo logy of Q is defined as coh(Q) = {a ∈ H / Qa=o}/{a=ax} Il turns out that cold(Q) are precisely the physical (i.o. gauge - invariant) skiles in H. Indead for 1x) ETtin and 137 E Hour we have  $S_{\psi}(B|\alpha) = i \langle B| S| S| S| \langle S| | \alpha \rangle = i \langle B| [\alpha, S+] | \alpha \rangle$ since s(S4) is not zero, in generalue find that the transition amplitude ABQ = CB(Q) is indepen-dent of the choire of gauge, 4 iff Q(Q) = Q(B) = 0. On the other hand la? and la? + Q(>) have the some amplifudes for all 13) with all320, and therefore 100) and 10)+ 012) are indistinguist able. We therefore identify  $|\alpha\rangle \sim |\alpha\rangle + \alpha|\lambda\rangle + \lambda$ In often words, the plusical states (i.r. the states that give gauge inv. hausihou an plitudes) are in coh(Q.H). Similarly, correlation functions  $\langle f(A_{n}) \rangle$  are gauge invariant if  $[Q, f(A_{n})] = 0$ 

In closing our discussion of the BRST quantisation, let us return to the geometric interpretation of what we have done. Starting with the ill-defined path integral

(Din)f(n) f(n) et Sin J

which formally integrates over cell vector potentials including orbits over gauge equivalent configurations.

AN

gauge
orbits

(D[g]

we factorised the pure gauge contributions

with the help of the Faddeev-Popov trick and then replaced

SD(g] by SD(n,n\*3

which has the advantage of

 $\left( D(A, \eta^{*}, \eta^{*}) \right) = \left( \sum_{i=1}^{n} \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{in})} - 2^{*} \right) = \left( \sum_{i=1}^{n} e^{i \sum_{i=1}^{n} S(A_{i$ 

being finite and furthermore independent on the choice of gauge fixing

 $\int dx e^{-x^2} = \int dx dy S(f(y))|f'(v)|e^{-x^2}$ Illustration: n. b: only tangent space at zero of f is relevant